NAIR Asst Mech Engg AME Asst Workshop Mngr AWM

Topic:- AWM_PA_NAIR25FEB

1) Which of the following accidents are categorized as ‘Non Consequential Train
Accidents'?

fe=fof@a guear # & ®ia I aionelt &= geear &r Aoft & &2

[Question ID = 553][Question Description = Q01_AWM_PA_NAIR25FEB]
- Fire in Train under category B-1to B-4 / &-1 & &1- 4 Fifc & &7 & 3971

[Option ID = 2209]

2 Fire in Train under category B-5 and B-6 / &1-5 3{¥ &1 6 &Ife & ¢F & 3191
[Option ID = 2210]

3. Collision under category A-1to A-4 | T-1 & T-4 &I & TFA
[Option ID = 2211]

4 None of the given options / &3 71T J@eal # ¥ Fis g
[Option ID = 2212]

Correct Answer :-

* Fire in Train under category B-5 and B-6 / &1-5 3i¥ - 6 &ife & &7 & 3m1

[Option ID = 2210]

2) Who s Ex-Officio Chairperson of National Disaster Management Authority (NDMA) in
India?

LT HIET FaUa T  Tod HeTET Fid &7
[Question ID = 554][Question Desc['iption = Q02_AWM_PA_NAIR25FEB]
1. Prime Minister /| Wl #AT

[Option ID = 2213]
2 Home Minister / I[& &A1

[Option ID = 2214]
3. President / ISe9TT

[Option ID = 2215]

4. None of the given options / &3 717 [@eql & T &I FaT
[Option ID = 2216]

Correct Answer :-

* Prime Minister /| WeIT=T HAT

[Option ID = 2213]

3) What is target time for turning out ART during night?

T # gHeaT Ugd I e ¥R # g e Afee?



[Question ID = 555][Question Description = Q03_AWM_PA_NAIR25FEB]
- 45 minutes / 45 A=

[Option ID = 2217]

2. 30 minutes / 30 f@dc

[Option ID = 2218]

3. 40 minutes / 40 / fac

[Option ID = 2219]

4 None of the given options / &% 71T Jwcal # ¥ His F&r

[Option ID = 2220]

Correct Answer :-
* 45 minutes / 45 A=

[Option ID = 2217]

4)  What is integrated Rail Madad Helpline number on Indian Railways?

Il GG H1 Thihd §od ogel HEAT 4T §7?
[Question ID = 556][Question Description = Q04_AWM_PA_NAIR25FEB]
138

[Option ID = 2221]

2. 139

[Option ID = 2222]
3101

[Option ID = 2223]
4. None of the given options / @& 3T R{Feal # T F1s A8
[Option ID = 2224]

Correct Answer :-

* 139

[Option ID = 2222]

5) Which of the following statements is true?

f=atEs Fu= # & Fi9 T 87

[Question ID = 557][Question Description = Q05_AWM_PA_NAIR25FEB]
Rail Madad is a mobile App to register complaints by passengers through

1. mobile phone/web / I HEE RS BiA/Ad & GaNT ATl 2RI Toilehe
HT U VT F

[Option ID = 2225]

Rail Madad is linked with Railways’ existing ticketing system like PRS/ ¥ #Acg
2.
o & gaA fewmfear qomel Sy fIaRed § 3T g §

[Option ID = 2226]



Rail Madad is a single portal for grievance, inquiry and assistance for all

3. railway customers / ¥ Heg WA W& WEHr F v B, waes AR
HergaT & o 3mrer orew &

[Option ID = 2227]

4. All of the given options / &3 71T J@Fcal # T Tt

[Option ID = 2228]

Correct Answer :-

* All of the given options / @& 91T BsFear & ¥ @Y

[Option ID = 2228]

) What is full form of SLI in 140 Ton crane?

140 =7 el # THUTS &1 9 Toawor #2487

[Question ID = 558][Question Description = Q06_AWM_PA_NAIR25FEB]

1. Safe Load Indicator / ¥% w3 SfEHex

[Option ID = 2229]

2. Single Load Indictor / f&eTer &g =fEex
[Option ID = 2230]

3 Short Load Indicator / 2ifc @IS 3f3eT

[Option ID = 2231]
4. None of the given options / & T R{Feal # T F1s F8T
[Option ID = 2232]

Correct Answer :-

* Safe Load Indicator / ¥% w13 SEHeX

[Option ID = 2229]

7) Which of the following is not mentioned in Working Time Table?
g or5H taw ® Teeoed § ¥ ¥ 35T J8r BdT 87

[Question ID = 559][Question Description = Q07_AWM_PA_NAIR25FEB]
- Engineering Time Allowance / SS=gT Z8H 3T
[Option ID = 2233]

2. Traffic Recovery Time / ¢fther Nrall e=H

[Option ID = 2234]

3. Maximum Permissible Speed / #fFTaR WARET ==

[Option ID = 2235]

4 Time Table of Goods Train / AT IMEAT FT TBH a9
[Option ID = 2236]

Correct Answer :-

* Time Table of Goods Train / #TS AT T TSH ool

[Option ID = 2236]



8) What is essential component of A Class Accident Relief Train?

T Aot & gEear Ued I & Afaad geF @l §7

[Question ID = 560][Question Description = Q08_AWM_PA_NAIR25FEB]
- 140 Ton Crane / 140 & el
[Option ID = 2237]

2. Front-End Loader / We - 38 &Y

[Option ID = 2238]

3. Hydraulic Rescue Device / g=3leieh THFL ECIES:]

[Option ID = 2239]
4. None of the given options / &3 717 @eal & & #Is &0
[Option ID = 2240]

Correct Answer :-
* 140 Ton Crane/ 140 e &

[Option ID = 2237]

9) What is Hooter Code when only ART is ordered?

9 9o gHeAT Ted I F A AT § A gel Fs o E?

[Question ID = 561][Question Description = Q09_AWM_PA_NAIR25FEB]
1. One long two short / T &4T &I Gl

[Option ID = 2241]
2. One short two long / T e &F &1

[Option ID = 2242]
3. One long one short / T =T TF @er

[Option ID = 2243]

4. None of the given options / f&3r 71T fa=eal & & F15 7@r
[Option ID = 2244]

10) Which of the following is Permissible Gauge Telerances on a straight track?

WY & § WATHEe 79 o Wrafarag & ¥ #4787
[Question ID = 562][Question Description = Q10_AWM_PA_NAIR25FEB]
- +6&-3mm / +6 & -3 fHAY

[Option ID = 2245]

2. +6&-6mm / + 6 & -6 fAAT

[Option ID = 2246]

3. +3&-3mm / +3 & -3 AT

[Option ID = 2247]

4. None of the given options / g 7Tt et 5 ¥ FiT F@7
[Option ID = 2248]

Correct Answer :-



* +6&-6mm / + 6 & -6 HAT

[Option ID = 2246]

11)  Which of the following are true in case of sudden derailment?

IS HI9UA F Hen & foiag & ¥ Fi9 @ Fu9 TT 22

[Question ID = 563][Question Description = Q11_AWM_PA_NAIR25FEB]
1. Instant dismounting of wheel from rail / 9fg& F1 I § TcFe 3a¢ AT

[Option ID = 2249]
2. Gradual climbing of flange on rail / Foisf F7 IF 9 F&+ T

[Option ID = 2250] .
Flange mounting marks are available on rail table /| Foi F ™ T e

foemer 3ueey &
[Option ID = 2251]

4. None of the given options / && 71T TasFeal & ¥ Fis Fg!

[Option ID = 2252]

Correct Answer :-

* Instant dismounting of wheel from rail / 9f&& FT I § dcFed 3T S0

[Option ID = 2249]

12)  What is the principle of braking system used in LHB coaches?

TA.TTE FF W TOFT a9 THRH & T8eyia #=1r §7?

[Question ID = 564][Question Description = Q12_AWM_PA_NAIR25FEB]

1. Single pipe air brake system / f&are o129 vaX 3% =
[Option ID = 2253]

2. Twin pipe air brake system / €fasT 989 Ty 9% oA
[Option ID = 2254]

Twin pipe air brake system with disc brake / B%F 3% F Ty &= 9159

W §% OEs

[Option ID = 2255]

4. None of the given options / &3 717 S=eat & & Fg F@r

[Option ID = 2256]

3.

Correct Answer :-

Twin pipe air brake system with disc brake / B%F ¥ F @y Zfa= 9159
TR &% THEA

[Option ID = 2255]

13) Brake accelerator in LHB coaches is a —

&% TFHoed g T -

[Question ID = 565][Question Description = Q13_AWM_PA_NAIR25FEB]

1. Brake actuating device / ¥ UsUTeH 3amsw

[Option ID = 2257]



2. Emergency brake application device / HTITa=Ield ¥ UTceshed 988
[Option ID = 2258]

3 Excessive brake device / ¥cafd=+ 3% fEaEw
[Option ID = 2259]

4. None of the given options / T&&r 7T Tawear & @ FiS T
[Option D = 2260]

Correct Answer :-

* Emergency brake application device / HTaTasreiled 3% Ulcersheld Samsd

[Option ID = 2258]

What is the purpose of Dump Valve in LHB Coaches?

TS UF & FEl # 3T Gred 7 36y T g7

[Question ID = 566][Question Description = Q14_AWM_PA_NAIR25FEB]

To maintain approximate same speed of all axles / THT *{ﬁ F THT THF AT
T e ¥ R

[Option ID = 2261]

2. To protect wheels against skidding / 9fgaT T haee ¥ a9 & BT

[Option ID = 2262]

3. Braking and de-braking / ST T SafFr
[Option ID = 2263]

4. All of the given options / fe&r oiv et & & mft
[Option ID = 2264]

Correct Answer :-

* All of the given options / T&&r 71T fawear & & w0

[Option ID = 2264]

15) In ICF rakes during full service brake application, Brake pipe pressure is dropped by
what amount?

HSEUE ¢ H qUT BT §h HIWART & SN, 9% UIST &M GaId [ohadell & &l
AT 87
[Question ID = 567][Question Description = Q15_AWM_PA_NAIR25FEB]

1. 2.0 Kglem2 /2.0 forarm / §AR2

[Option ID = 2265]

2. 1.0 Kgfem?2 / 1.0 fram / @&

[Option ID = 2266]

3. 2.0 Kg/em2 / 3.0 fomamm / €#12

[Option ID = 2267]

4. 1.5 Kglem2 /1.5 forarm / @12

[Option ID = 2268]

Correct Answer :-

* 1.5 Kg/em2 / 1.5 TFarm /| &#2



[Option ID = 2268]

16) What is the diameter of bogie mounted brake cylinder in ICF coaches?

HISHIUS g H G A3CS 9 Wl H I fhd=r giar 87
[Question ID = 568][Question Description = Q16_AWM_PA_NAIR25FEB]

1. 220 mm/ 220 T

[Option ID = 2269]
2. 210 mm / 210 &

[Option ID = 2270]
3. 2083 mm / 203 f&AET

[Option ID = 2271]
4 200 mm / 200 f&AT

[Option ID = 2272]

Correct Answer :-

* 203mm / 203 TEAT

[Option ID = 2271]

How many coaches of Vande Bharat Trains are motoring coaches?

Fe-ANd & H foraer AT = £
[Question ID = 569][Question Description = Q17_AWM_PA_NAIR25FEB]
- Half of total number of coaches / e FIT T FEAT FHr el

[Option ID = 2273]
2. One fourth of total number of coaches / el T I HEAT & T TlAS

[Option ID = 2274]
3. Two coaches per train / 93 & H &l &g

[Option ID = 2275]

4 None of the given options / @& 71T T&eul & & Fis 76T
[Option ID = 2276]

Correct Answer :-

* Half of total number of coaches / Fdl S T EIAT S 3T

[Option ID = 2273]

18)  Which of the following statements is correct?

f=faf@a wu=t § @ =la ar @@ § 2

[Question ID = 570][Question Description = Q18_AWM_PA_NAIR25FEB]

L type composite brake block is used in ICF coaches with Bogie Mounted Brake
1. Cylinder / a7 AT3es 3% TRfoET a0 WESHUE F F UF ST FASE 95
Tells T TIET BT §

[Option ID = 2277]



L Type composite brake block is used in wagons with Bogie Mounted Brake
2. Cylinder | afr AT3es o TAfSET aror AeEear & U BT FASE aF eoiw

FT TN FAr &
[Option ID = 2278]
, K Type composite brake block is used in LHB coaches / ToTgdl B H H
TSY FAISIE a5 el F FTIET AT &
[Option ID = 2279]
4 None of the given options / &3 71T fsheat # & &1 &l
[Option ID = 2280]
Correct Answer :-

* None of the given options / &% 71T [G&edl # ¥ IS =T8T

[Option ID = 2280]

In ICF Coaches, during brake release, air from Brake Cylinder goes to

TSHTE FT H #eh Rollel & g 9 [Qieist T garsdr g

[Question ID = 571][Question Description = Q19_AWM_PA_NAIR25FEB]
Auxiliary Reservoir through Distributor Valve / %@E@TW&T@W
| el ReaRr
[Option ID = 2281]
Control Reservoir through Distributor Valve / %@E@T ared & ST
Fele Nerafay &
[Option ID = 2282]
3. Atmosphere through Brake cylinder / 3 fiTeiST & ganT argASH Sl

[Option ID = 2283]
Atmosphere through Distributor Valve / i%}iicﬂﬂ\a dred o Gl
argHS HI

[Option ID = 2284]

4.

Correct Answer :-

Atmosphere through Distributor Valve / fSregex T dred & GanT
aHSH &
[Option ID = 2284]

20)

Which of the following sentence is correct?

o # ¥ Fi9 @ FU4 TET 87

[Question ID = 572][Question Description = Q20_AWM_PA_NAIR25FEB]



Ride Index of Nan AC ICF coach is mare than that of Non AC LHB
1. Coach | @l THT FTSHITE FI= T USS S5FH Al THI UoU=ET hiel &

ST g
[Option ID = 2285]

, Ride Index of AC ICF and AC LHB coach is same / THT HTSHITH 20T
UHl UAUST I FI 1SS 3550 TATH §

[Option ID = 2286]
Ride Index of AC |ICF Coach is less than that of AC LHB Coach /
THI HISHIUE Il FI TS5 59 THI UaU=«] HI9 § FH g

[Option ID = 2287]

None of the given options / f&3r 71T fasreal # & IS =81

[Option ID = 2288]

>

Correct Answer :-

Ride Index of Nan AC ICF coach is mere than that of Non AC LHB
* Coach / dTe THT JTSHITE FIF F7 U538 S5FF Al THT To0== g §

SAET 8

[Option ID = 2285]

21)  Which of the following is the Transportation Code of LHB AC Second Class
Sleeper (Self Generating) Coach?

fAfaf@a # ¥ vavgdl vHr gfadra Aoft & T S (We® SA=iiedr) F
CTHUICH I8 41 ¢
[Question ID = 573][Question Description = Q21_AWM_PA_NAIR25FEB]

" WGACCW / SecgAIvHrHEeaey

[Option ID = 2289]

2. LWACCW / TeSscquaidsaey

[Option ID = 2290]

. LWGACCW / ToiSacgAIvHEEaey
[Option ID = 2291]
4 WACCW / Seequdrdsaey

[Option ID = 2292]

Correct Answer :-

* LWGACCW / Tesdcgslivddsacy

[Option ID = 2291]

22) PEASD stands for
Jisuegs HFaTE

[Question ID = 574][Question Description = Q22_AWM_PA_NAIR25FEB]

. Passenger emergency alarm signal device / 30T THSE 3o e %T:HEF

[Option ID = 2293]



2. Passenger emergency alert safety device / U8R TAAE 3 Thie %EI'I':'IH

[Option ID = 2294]

3. Passenger emergency alarm short device / ¥R THA=E 3ATH ot %T:I'IEF

[Option ID = 2295]
4 None of the given options / f&&r 317 AFedl F & I3 T
[Option ID = 2296]

Correct Answer :-

* Passenger emergency alarm signal device / dgR vAATT oA fEeeer %HI’:';H

[Option ID = 2293]

23) During POH, Air Pressure Test of Auxiliary Reservoir of Wagon is done at

what pressure?

draoe F Shue AfEaad feefaar 71 rar a9t o 8 89T W R smar
g7

[Question ID = 575][Question Description = Q23_AWM_PA_NAIR25FEB]

1. 6 kg/cm2 / 6 TEReEITHAHT2

[Option ID = 2297]

2. 8 kglem?2 / 8 TEhalEmaAH2

[Option ID = 2298]

3. 10 kg/em2 / 10 TREETAE/GAR

[Option ID = 2299]

4. 16 kg/em?2 / TReRITH/ZHR

[Option ID = 2300]

Correct Answer :-

* 10 kg/em2 / 10 FRraTEmA/AHT2

[Option ID = 2299]

24) The rate of air leakage in Single WWagon testing should not be more than

Tshol d91 CTECAT & QI UAT olichal &l &Y [iToliad O SIIGT FAel gl AIfge

[Question ID = 576][Question Description = Q24_AWM_PA_NAIR25FEB]

1. 0.02 Kg/em2/min / 0.02 Tralana/a&@2/Eae

[Option ID = 2301]

2. 1.0 Kglem2/min/ 1.0 TraRma/ad2/Eae

[Option ID = 2302]

3. 0.2 Kglem2/min / 0.2 FaRma/ad/Eae

[Option ID = 2303]

4. 0.1 Kg/em2/min / 0.1 Tre=ma/a#d2/fae

[Option ID = 2304]



Correct Answer :-

« 0.1 Kg/em2/min / 0.1 frarema/a#i2/&=ae

[Option ID = 2304]

25) Maximum brake cylinder pressure in freight stock with Load Sensing Device in Empty
Condition is -

ATH IS F  TATHI & AT Tl g4 W, Hehad s Helsy garg J9ram ¢ -

[Question ID = 577][Question Description = Q25_AWM_PA_NAIR25FEB]

- 3.8+0.1 Kg/cm?/ 3.8+0.1 TRl ImA/THR

[Option ID = 2305]

2. 2.240.25 Kglem? | 2.2+0.25 Tra=ma/a#r

[Option ID = 2306]

3. 3.,040.1 Kg/em? / 3.0+0.1 fratrama/aar
[Option ID = 2307]

4. 2.2+0.1 Kglem? | 2.2+0.1 Tharama/aar?

[Option ID = 2308]

Correct Answer :- Deleted

26) |n Premium Rake, the trains originating from primary depot should have a brake
cylinder operating percentage of-

WifFes & & wafds B9 @ 9o« a6 & # 9% oSt e uidea g=r
TIfge-

[Question ID = 578][Question Description = Q26_AWM_PA_NAIR25FEB]

- 80%

[Option ID = 2309]
2 90%

[Option ID = 2310]
3 100%

[Option ID = 2311]
4 95%

[Option ID = 2312]
Correct Answer :-
* 95%

[Option ID = 2312]

27) Brake Pipe pressure in Brake Van of freight train of length beyond 56 BOXN wagons
when BP pressure in loco is 5 kg/cm? is:-

56 S3TUFETT 39 T JE FdS el ATHIAET & 6 o9 H s UIST &7 ga g
glar & =19 ST & BP e 5 fFamasr g &



[Question ID = 579][Question Description = Q27_AWM_PA_NAIR25FEB]

1. 5.0kg/cm?/ 5.0 Fram/&r

[Option ID = 2313]

2. 47 kglem? | 4.7 TramaE?

[Option ID = 2314]

3 4.8 kglem? | 4.8 Teram/gsT?
[Option ID = 2315]

4. 4.6 kglem? [/ 4.6 T

[Option ID = 2316]

Correct Answer :-

* 47 kglem? | 4.7 TmmaE?

[Option ID = 2314]

28) The Axle Load capacity of LWLH25 Bogie is:-

TaSdeguatd 25 19 I vaFgd #R &HT 8-

[Question ID = 580][Question Description = Q28_AWM_PA_NAIR25FEB]
1. 2032 ton / 20.32 27

[Option ID = 2317]

2. 229ton/ 2292
[Option ID = 2318]

3. 22.32ton [ 2232%d
[Option ID = 2319]

4 25ton /1 25 &
[Option ID = 2320]

Correct Answer :-

* 25ton/ 25 &

[Option ID = 2320]

29)  Which of the following is not correct with respect to Vande Bharat Train set?

¢ #NT ¢ F HIY H TeAoEg # ¥ Fi9 5E F@0 87

[Question ID = 581][Question Description = Q29_AWM_PA_NAIR25FEB]

All coaches are equipped with fully suspended Traction moters / Tt Fi=r “[?r TEE
1.

TEET T Hew § gEfeed ¢

[Option ID = 2321]

2. The bogies are bolster less / AT Foeeey &
[Option ID = 2322]
3. It has Wheel mounted brake disc / SEH i HI3¢s 9% B &
[Option ID = 2323]
The toilets of these coaches are fitted with zero discharge vacuum-based bio-toilets /
4 5w F eftEmeEt F T REe dsgEfaea-amiE Se-dtuemt & gutesa
g mar &



[Option ID = 2324]

Correct Answer :-

All coaches are equipped with fully suspended Traction moters / Tt Fi=r “[?r TEE
TEET T Hew § gEfeed ¢

[Option ID = 2321]

30) \What is the new wheel diameter and condemning diameter of the wheels used in
the Train sets?

e # 3yger fRU S arer 9fedl # Far 9fedr saw 3R FS#Ee w41
8?7

[Question ID = 582][Question Description = Q30_AWM_PA_NAIR25FEB]

1. 1000 mm/840 mm / 1000 TA#/840 &l

[Option ID = 2325]
2. 980 mm/860 mm /980 f&=/860 =Y

[Option ID = 2326]
3. 915 mm/845 mm [ 915 TH=845 =T

[Option ID = 2327]
4. 952 mm/877 mm /952 fasE877 e

[Option ID = 2328]

Correct Answer :-

* 952 mm/877 mm /952 TF/877 AT

[Option ID = 2328]

31) How many Emergency openable windows are available in LHB AC coach?

TA.TT.d TH FT H Faar Jaseia gold aeg [@siendr 396 87

[Question ID = 583][Question Description = Q31_AWM_PA_NAIR25FEB]
1. 4
[Option ID = 2329]
2. 8
[Option ID = 2330]
3. 10
[Option ID = 2331]
4. 42
[Option ID = 2332]

Correct Answer :-
* 4
[Option ID = 2329]

32) which chemical is recommended to clean the water tank of LHB coaches so as to
avoid scaling?

TATIH AT FT F 9T F &F F T FA F o0 F5 waa Fr Gwrer $r
STdr § Tt SRfee & F97 31 557



[Question ID = 584][Question Description = Q32_AWM_PA_NAIR25FEB]

1. Acetone |/ THE=T

[Option ID = 2333] |
2. Formaldehyde | BTHZgES

[Option ID = 2334]

3. Hypochlorite | gTS9FaATSE

[Option ID = 2335]
4 Vinegar / TaTT

[Option ID = 2336]

Correct Answer :-
* Vinegar / oz

[Option ID = 2336]

33) Where is the water pump controller located in LHB coach?

TETH.E T ¥ I 95 T35 Far g g2 &2

[Question ID = 585][Question Description = Q33_AWM_PA_NAIR25FEB]
. Underslung compartment / @< 9% 14T =T

[Option ID = 2337]

2. switch Board Cabinet / T&5= 3 e

[Option ID = 2338]
3. Non power panel side / #Ta IraT Y5 WSS

[Option ID = 2339]

4. None of the given options / @& 71T fa=eal & § #S &l

[Option ID = 2340]

Correct Answer :-  Deleted

34)  Which of these features are available in Antyodaya coach?
HOeT F9 # 594 ¥ Fi7 & FEAuw 399y £ ?

[Question ID = 586][Question Description = Q34_AWM_PA_NAIR25FEB]
1. vestibule for inter-coach movement / 3TEege B $eT- Fi= HIA

[Option ID = 2341]

2. Improved Modular FRP toilets / AISgeR THIRHT ff=meg & gum gam

[Option ID = 2342]
3- cushioned luggage rack / g #9 THA @ HT &F
[Option ID = 2343]
4. All of the given options / T&3&r 717 oot & & m=ft
[Option ID = 2344]

Correct Answer :-

* All of the given optiens / f&&r 717 fa=reat & & @i

[Option ID = 2344]



35 What is frequency of intensive examination of freight stock?

AT ST T T AT T MG FAT E?

[Question ID = 587][Question Description = Q35_AWM_PA_NAIR25FEB]
All freight trains should be subjected to intensive examination in empty condition at

1. originating stations / YRI&® T 9T Wi ATeEN(=ar F e ged J T AT
#T FEAT TfeT

[Option ID = 2345]
In exceptional cases, the back loaded freight trains can be examined / 37HTYUT

AHer #, 95 0l g AroEnisdl H S H ST FHhT 8

[Option ID = 2346]
All freight trains shall be re-examined if stabled for more than 24 hours / 24 ©¢ ¥

HTOF AT 9F WS |/ W T AEEnTEAT Fr e F= FHr Froedr
[Option ID = 2347]

4. All of the given options / fe&r a7 faFredt & & @it

[Option ID = 2348]

Correct Answer :-

* All of the given options / f&&r 717 et & & wft

[Option ID = 2348]

36) Which of the following are objective of crashworthy design?

TreafiEa & ¥ #iF @ Fadt Tosa 77 3587 7

[Question ID = 588][Question Description = Q36_AWM_PA_NAIR25FEB]
To absorb Collision Energy in Controlled and Predictive Manner / Z{l9 FAT

F TafE 3R EgATET a0F ¥ AT FE

[Option ID = 2349]
2. To reduce the Risk of Over-riding / 3a-Us=Ea & Jf@A FF =87 =0

[Option ID = 2350]
To maintain Survival Space and Structural Integrity of Occupied Areas / Feaf

arer & HT SifaT B/ T T AT TEAeHF FESAT A0 T@AT

[Option ID = 2351]

4. All of the given options / f&3r 717 fowreat & & =i
[Option ID = 2352]

Correct Answer :-
* All of the given options / &3 77t et & & T=h

[Option ID = 2352]

What type of Transmission is in WDG4D Locomotive?

SacgEied AFAICT H Fid A THHEA 87

[Question ID = 589][Question Description = Q37_AWM_PA_NAIR25FEB]

1. AC-DC / TH-ErEr

[Option ID = 2353]



2. AC-AC | TdrTdr
[Option ID = 2354]

3. DC-DC / Srdr-Srdr

[Option ID = 2355]

4. DC-AC / Srdr-vdr
[Option ID = 2356]

Correct Answer :-

* AC-AC / THI-TH

[Option ID = 2354]

3%)  1n wDG4 locomotives, reason for oil throwing from Turbo Supercharger chimney,
may be -

STegaai4 AFAeT A, ZEf FUEREN FHEAT ¥ a0 85 & @0 FEor & §har
g-
[Question ID = 590][Question Description = Q38_AWM_PA_NAIR25FEB]
. Damaged power assembly / 8= 9TaT JT=Far
[Option ID = 2357]

2. Turbo labyrinth seal failure / zaf JIfafir de o & Tdl &

[Option ID = 2358]

3. Oil separator screen missing / &% &S+ =9 94 & T4 &

[Option ID = 2359]

4. All of the given options / f&&r 1T el & & woft
[Option ID = 2360]

Correct Answer :-

* All of the given options / fe&r orT faweat & & =it

[Option ID = 2360]

39) In HHP (WDG4/WDP4) loco, what is the effect of auto flasher operation?

THUEST (SHegEIa4/Saegarai4) wreAed H, Al TR F TETes 1 F4T
qaATd BT §7

[Question ID = 591][Question Description = Q39_AWM_PA_NAIR25FEB]

1. Engine comes to idle / 3 HEE & a1 &

[Option ID = 2361]

2. Auto flasher indication / 3Ter FeeT TFaa 8T &

[Option ID = 2362]

3. Buzzer operates / a7 JETToid BIAT &

[Option ID = 2363]

4 All of the given options / fg&r o1T foereat & & Tt
[Option ID = 2364]

Correct Answer :-

* Al of the given options / Te3r 1t E=eat & ¥ =t



[Option ID = 2364]

49 |nHHP (WDG4/WDP4) locomotives, what is pressure setting of MR Safety
Valve?

TIUIH! (A 4/Eacg=ar4) FeiAled H, UH 3R G aed \iedl
F §?

[Question ID = 592][Question Description = Q40_AWM_PA_NAIR25FEB]

1. 9.6kg/cm2 (140 psi) / 9.6 TFaama/EERT T3 (140 T35 9fT T =)

[Option ID = 2365]

2. 8.2kg/cm2 (120 psi) / 8.2 FraamAAART T3 (120 9r3E 9fy 97 59)

[Option ID = 2366]

3. 10.6kg/com2 (150 psi) / 10.6 FramEmam#ERET F°7 (150 913E 9fy =1 ==

[Option ID = 2367]

4. None of the given options / f&ir =it et & ¥ F8 70

[Option ID = 2368]

Correct Answer :-

* 10.6kg/com2 (150 psi) / 10.6 TFa@maE/EHET T (150 9138 9 =91 =90)

[Option ID = 2367]

41)  Which type of diesel engine is fitted in WDG4 locomotive?

SacgEAr 4 dAed H T 9 # S 5 87

[Question ID = 593][Question Description = Q41_AWM_PA_NAIR25FEB]
1. Four stroke / IR &+

[Option ID = 2369]

2. Three stroke / e TIH

[Option ID = 2370]
3. One stroke /| T &R

[Option ID = 2371]

4. Two stroke |/ aF &%
[Option ID = 2372]

Correct Answer :-

* Two stroke / g1 BI%

[Option ID = 2372]

42) During which stroke inlets valves open in main engine of ALCO diesel locomotive?

U ST WreAled % JCT 5o A [FF TIF % e Seic dred Gadl g7

[Question ID = 594][Question Description = Q42_AWM_PA_NAIR25FEB]
1. Suction [/ HFA

[Option ID = 2373]
2. Compression / ®&derd

[Option ID = 2374]



3. Power / 9Ta¥

[Option ID = 2375]
4. Exhaust | TFaTEE

[Option ID = 2376]

Correct Answer :-

* Exhaust /| TFaTEE

[Option ID = 2376]

43) In WDG4G locomotive, Traction Motor Speed is controlled by which of the following?

FIegEiS 45 e #, TR Al TE F Fese@a & ¥ s gan
foafe fear s 82

[Question ID = 595][Question Description = Q43_AWM_PA_NAIR25FEB]
By Varying the Number of pole in stator /| TeT & e T H&AT F He=l-
T Fh

[Option ID = 2377]
By Varying the frequency of AC in Motor Stator winding / #eT &3

2.
FiEfEer & o F 39 F Feael
[Option ID = 2378]
By changing the frequency of AC in Motor rotor assembly / HET TeT
FHaer # v # WG F TEE
[Option ID = 2379]
4. None of the given options / a8 & FIT TR
[Option ID = 2380]

Correct Answer :-

By Varying the frequency of AC in Motor Stator winding / #eT <X
FisfEer & v F 39 F Feawl

[Option ID = 2378]

44 In the GM locomotive (WDP4D) the Turbo supercharger is driven by which of the

following?
A AR (FEegEend) # zaf guEnen FEetaT & ¥ fFes aw
HaTterd BT 87

[Question ID = 596][Question Description = Q44_AWM_PA_NAIR25FEB]

. Exhaust Gas / Toaliee 3 @

[Option ID = 2381]

2. GearTrain /| fRT & &

[Option ID = 2382]
3. Gear Train & Exhaustgas / faT &= iR ol W @

[Option ID = 2383]

4. None of the given options / & 71t et & & FiT &8



[Option ID = 2384]

Correct Answer :-

o Gear Train & Exhaustgas / frw &7 iR v @ @

[Option ID = 2383]

43 \What is Traction Motor pinion and bull gear ratic in WDP4 locomotive?

saegEd4 AFAeT H gFaa Aer ffeaas 3 g9 faw &

HITT T &2

[Question ID = 597][Question Description = Q45_AWM_PA_NAIR25FEB]
1 17:90

[Option ID = 2385]
2 47:77

[Option ID = 2386]
3 18:65

[Option ID = 2387]
4. 35:90

[Option ID = 2388]
Correct Answer :-
® 777

[Option ID = 2386]

46) Spectrographic analysis of lube oil is conducted to determine —

TOF O F TIFCIAIGF [G9eWT T 36597 -
[Question ID = 598][Question Description = Q46_AWM_PA_NAIR25FEB]
1. Viscosity of Lube oil / && T ST AT 1 FATS

[Option ID = 2389]
2. Ph value of lube oil / =gF o 1 90 AT AT

[Option ID = 2390]

Wear metal elements present in lube cil / =7 &+ =) I!‘Flg fermr el
g7g dcd 94T SR .
[Option ID = 2391]
4. All of the given options / fe&r orv Rereat & & waft
[Option ID = 2392]

Correct Answer :-

Wear metal elements present in lube oil / ¥4 o& & His[g Toar gam
T FeF TAT SR .

[Option ID = 2391]



4D InHHP locomotives, engine should be pre-lubricated before starting, if it has been
shut down -

THTEd dSATed H, F9 976 B § Tgol G-gieehes gl d1g0, Iig W 4G
Fv fear 73 &

[Question ID = 599][Question Description = Q47_AWM_PA_NAIR25FEB]

1. Any time / 5T o §HT

[Option ID = 2393]

2. More than 48 hrs. earlier / 48 o ¥ 3fO+F 98T

[Option ID = 2394]

3. More than 12 hrs. earlier / 12 9 ¥ T+ 98T

[Option ID = 2395]

4. None ofthese /| =38 T F1S gl
[Option ID = 2396]

Correct Answer :-

* More than 48 hrs. earlier / 48 ¥ ¥ 3TU% 9go

[Option ID = 2394]

8) Ina 3 Phase EMU rake, which is the leading coach?

3 %7 SUAY W A AUl w9 T w67

[Question ID = 600][Question Description = Q48_AWM_PA_NAIR25FEB]

1. Motor Coach / #AET FI=

[Option ID = 2397]

2. Trailer Coach / €& HIer

[Option ID = 2398]

3. Driving Trailer Coach / ZTSTET &l Hi

[Option ID = 2399]

4. None of the given options / f&&r 717 fSeal & & F15 F@r

[Option ID = 2400]

Correct Answer :-

* Driving Trailer Coach / 3T8T&T &o I

[Option ID = 2399]

49 \Which of the following takes place during Dynamic Brake Application in ALCO
Locomaotive?

Helh! FiRrAIeT H STOATHAS a9 JgIaeT F N Wearodd & ® 47 giar g7

[Question ID = 601][Question Description = Q49_AWM_PA_NAIR25FEB]
All Traction Motors are converted into DC Generators / Tt &3 #Aiex St SaieX

" 3 ofafla o s 2

[Option ID = 2401]



Traction Alternator is converted into Motors / $9R 3eelel Al ¥ Iiafad &
ST g

[Option ID = 2402]

Aux Gen and Exciter are converted into Motors / 3iFafaall Ay 3T vFaEd
Fed & sfefda e 99 &

[Option ID = 2403]

Dynamic Brake Blower motor is converted into Generator / ST8T#® 3% sol3i{ Al
FAET H gfEfas g e 8

[Option ID = 2404]

4.

Correct Answer :-

, All Traction Motors are converted into DC Generators / T TE &rex S AR
FofEfda e s &

[Option ID = 2401]

50)  |n Traction Alternator in ALCO locomotives-

HAFT WFRHAICT H TFIFT Hoeldel A-

[Question ID = 602][Question Description = Q50_AWM_PA_NAIR25FEB]
' Both Field and Armature rotate / Frez X 3R o=t g9 &

[Option ID = 2405]

2. Field is rotates, Armature is stationary / Wres gFaT & 3R 3T T @A

[Option ID = 2406]
3 Neither Field nor Armature is rotating / & @ Hres 3T 7 & 3JTHIT FHAT &
[Option ID = 2407]

4. Field is stationary, Armature is rotating / Hres 8T T&ar & 3T 3= g7ar &

[Option ID = 2408]

Correct Answer :-

* Field is rotates, Armature is stationary / $Tes gHaT § A 3= T Ear ¢

[Option ID = 2406]

What is distribution of load in percent between center pivot and side bearers in
WDM2 locomotive?

STegEITA2 dr & 9 F faater #Hex e T 9nE W & 99 9fmee #
T &7
[Question ID = 603][Question Description = Q51_AWM_PA_NAIR25FEB]
- 40:60
[Option ID = 2409]
2. 50:50
[Option ID = 2410]
3 80:40

[Option ID = 2411]
4. 70:30



[Option ID = 2412]

Correct Answer :-
® 80:40
[Option ID = 2411]

32)  \Which of the following are not among the available allowances under Chittaranjan
incentive scheme?

=T 7 ¥ o9 Ratas dicags I & d8d 39ed 341 & ¥ 78T 87

[Question ID = 604][Question Description = Q52_AWM_PA_NAIR25FEB]
1. Fatigue Allowance /| ¥l T

[Option ID = 2413]

General handling allowance and Gauging Allowance / GTH=T gsfaldT &@T 3T
AT o
[Option ID = 2414]

3. Family allowance / 9R@R s

[Option ID = 2415]
4. None of the given options / 6 71T @&ear & & #IT 74T
[Option ID = 2416]
Correct Answer :-

 Family allowance / @R =T

[Option ID = 2415]

>3) The overhead cost does not comprise which of the following?

Haes ong J Feafaf@a # & a3 anffe 787 g2
[Question ID = 605][Question Description = Q53_AWM_PA_NAIR25FEB]

I Factory overhead / haedl 3ilates

[Option ID = 2417]

2. Administrative overhead / wemgfae 3Maes

[Option ID = 2418]

3. Township overhead / T31AT 3iE{es

[Option ID = 2419]
4 Direct Labour overhead / Yeg& #H 3ldigs

[Option ID = 2420]

Correct Answer :-

* Direct Labour overhead / 9% #H 3a{gs

[Option ID = 2420]

54)  Under Factory Act, who is nominated as occupier of the Railway Workshops?

el 3O & 3aeg FE ©F THT T FFFgIE TAIT AT g7



[Question ID = 606][Question Description = Q54_AWM_PA_NAIR25FEB]
'+ Chief Workshop Manager / H&d ShRETAT U=t

[Option ID = 2421]
2. Production Engineer / 3916 T8IaT
[Option ID = 2422]

3 Chief Workshop Engineer / &I HRETAT AT
[Option ID = 2423]

4 None of the given options / RFv e AT Fﬁ‘lé' ET
[Option ID = 2424]

Correct Answer :-

* Chief Workshop Manager / H&T SRG@TAT Ys=<Ih

[Option ID = 2421]

On normalisation in time study, the actual times of all the elements in the work cycle
should be converted to time at which rating?

AT 3T # AU W, F g% § T dcal F aedias 94T @
e W gwy & afefag frar aer anfge?
[Question ID = 607][Question Description = Q55_AWM_PA_NAIR25FEB]
" 50%
[Option ID = 2425]
2 80%
[Option ID = 2426]
3. 75%
[Option ID = 2427]
4 100%

[Option ID = 2428]

Correct Answer :-
* 80%

[Option ID = 2426]

36) As per Indian railway Rolling Stock Code, under CLW pattern of incentive scheme, the
ceiling limit of profit is fixed at what percentage of standard basic wages?

dIcHTE=T AT & H U Seeg, Uedd & dgd, o & AfEaR d@a ®EE 79 a9
&1 forc=tr wfaera i & 73 &2

[Question ID = 608][Question Description = Q56_AWM_PA_NAIR25FEB]
1. 33%
[Option ID = 2429]

2 40%

[Option ID = 2430]

3. 50%

[Option ID = 2431]



4. None of the given options / @& 71T [Gedt # § &I el

[Option ID = 2432]
Correct Answer :-
e 50%

[Option ID = 2431]

>7) " In CLW incentive scheme, Senior Section Engineers supervising incentive sections are
paid monthly bonus at-

Hiuasdey S7ied ThiH H 3edicd G & Udaesd Wil S Sellfaaw &l
Ta® a9 Hodr g-

[Question ID = 609][Question Description = Q57_AWM_PA_NAIR25FEB]
15% of their basic pay for all working days if he is present on duty on 90% of the total
1. working days in the month / 39 HeT dadd & 15% 3N T8 Bl 1 Taw @

90% fe=it & ear WX IUTeyd gar &

[Option ID = 2433]
15% of their basic pay in proportion to the number of days he is present on duty out of

2. the total working days in the month / 398 wy feaw qur Hel F fGam &
U H He a1 &1 15%

[Option ID = 2434]
15% of their basic pay for all working days without deducting for days of his absence

’ from duty / 3=IuRead & Gaw & AHAS # a1 HIF weld fve Aa aa= &7 15%

[Option ID = 2435]

4. None of the given options / @ 71T @&edl § & His Aar

[Option ID = 2436]

Correct Answer :-
15% of their basic pay in proportion to the number of days he is present on duty out of

« the total working days in the month / 39TeyT &1 9w aur Sl F¥ g &
I H HeT a4 H 15%

[Option ID = 2434]

In CLW incentive scheme, if a Direct Worker completes a job of 4 hours allowed time
in 3 hours, he will be paid how much incentive in percentage?

Hivasaey, Wiclle A= § AT HIs SSFC T 4 9¢ H &H 3 §9¢ 7 [
AT &, A 38 e gfaerd SicHgel &1 $Adre fohar Smeam?

[Question ID = 610][Question Description = Q58_AWM_PA_NAIR25FEB]

1. 33.33%
[Option ID = 2437]
2. 25%

[Option ID = 2438]



5 40%

[Option ID = 2439]
4 None of the given options / &3 71T [ear # & &2 =&r

[Option ID = 2440]
Correct Answer :-

* 33.33%

[Option ID = 2437]

In group incentive scheme, how much incentive is paid to support department as
compared to average incentive of production shops?

HHE WicHR At # 3cueT ofT & 3itea oo @ gelen # wure s &
Tohaar dicaes fear arar g7

[Question ID = 611][Question Description = Q59_AWM_PA_NAIR25FEB]
1. 50%

[Option ID = 2441]
2. 80%

[Option ID = 2442]
3 75%

[Option ID = 2443]
4. 100%

[Option ID = 2444]
Correct Answer :-
* 50%

[Option ID = 2441]

What is purpose of annealing low carbon steels?

= T Eow T AT R 7 F4T 359I

[Question ID = 612][Question Description = Q60_AWM_PA_NAIR25FEB]

I To improve hardness / FORAT H N & & faT
[Option ID = 2445]
2. To reduce machinability / F2f=Ta0T HI FH T & &0
[Option ID = 2446]
To release the internal stresses generated during working operations | T HETA &

" g S iR A gl T 3 T
[Option ID = 2447]

4. All the options are correct /| T [dseT Tar g
[Option ID = 2448]

Correct Answer :-

To release the internal stresses generated during working operations | ST T &

) BRI 30w AR J=1d I 6T FA & [oIT



[Option ID = 2447]

Which of the following is a type of case hardening process?

=af@ET § ¥ &9 o &7 g=fET uirmar &1 & TR 87

[Question ID = 613][Question Description = Q61_AWM_PA_NAIR25FEB]

1. Spherodizing / TR FATAT
[Option ID = 2449]

2. Tempering / &FOTET
[Option ID = 2450]

3. Normalizing / FRATE 14T
[Option ID = 2451]

4 Cyaniding / FEI?IE%?T
[Option ID = 2452]

Correct Answer :-

* Cyaniding / TTF=TSET

[Option ID = 2452]

62) Qrange Peel is a defect associated with which of the following?

I g T=fefaT & o o g=ftg v &2
[Question ID = 614][Question Description = Q62_AWM_PA_NAIR25FEB]

1. Heat Treatment / 3%HT 39d{

[Option ID = 2453]

2. Painting / gfear
[Option ID = 2454]

3 Rolling / TfereT

[Option ID = 2455]

4 Welding / afesaT

[Option ID = 2456]

Correct Answer :-
* Painting / gfea

[Option ID = 2454]

What will be result of displaced adaptors in Casnub Bogies?

FHoag I 7 ST § AT 9 ¥ WEe I ¥ FIr 9ionE geEm?

[Question ID = 615][Question Description = Q63_AWM_PA_NAIR25FEB]
1. Non-uniform loading of the bearing / AT &1 A= |ifseT

[Option ID = 2457]

2. Pre-mature failure of the bearing / JIRET T TAT ¥ 98 ™AFear



[Option ID = 2458]

3 Pinching/point loading of the Cup / &9 & 0T FI1/ASE A8 HLAT

[Option ID = 2459]
4 Pinching/point loading of the Cup / &9 & T Glﬂ{rllﬂ'd!éc'. S HLAT

[Option ID = 2460]

Correct Answer ;- Deleted

In a lathe machine, the tool has how many types of motion?

s FEfE H T § Traa oo @ar 87

[Question ID = 616][Question Description = Q64_AWM_PA_NAIR25FEB]
1. One type of motion /U= Y=RIT T 1T

[Option ID = 2461]
2. Two types of motions / 2t T Fr a1fer

[Option ID = 2462]
3. Three types of mation / &iF TR $r afa

[Option ID = 2463]
4. No motion / FIS 1T F&r

[Option ID = 2464]

Correct Answer :-

* Two types of motions / & TIT T 1T

[Option ID = 2462]

5 The accuracy of micrometers, calipers, dial indicators can be checked by which of

the following?

AEFHE, FAUY, ITNT SRF T e S T TR F e E
ST ®ehal g7

[Question ID = 617][Question Description = Q65_AWM_PA_NAIR25FEB]
. Feeler gauge / FrelX 31

[Option ID = 2465]

2. Slip gauge /&9 3=

[Option ID = 2466]
3. Ring gauge / T 37

[Option ID = 2467]
4 Plug gauge / <o1d7 1T

[Option ID = 2468]

Correct Answer :-

* Slip gauge /&9 3=

[Option ID = 2466]



66)  Rail Wheel Factory and Rail Wheel Plant of Indian Railways produces rail wheel discs

by which of the following process?

ARAT I FT Y @i thaey U7 Y& @id Coie fRW 9iRdar § W g H
3cqIe AT 2872
[Question ID = 618][Question Description = Q66_AWM_PA_NAIR25FEB]

1. Forging / ®ifsaT

[Option ID = 2469]

2. Casting / FITEET

[Option ID = 2470]

3. Fabricating / thfererfear

[Option ID = 2471]
4 None of the given options / fe3r a7 faseat § ¥ HIE agt

[Option ID = 2472]

Correct Answer :-

* Casting / FITEaT

[Option ID = 2470]

Which of the following are the effective conditions for Phosphorous removal
during Wheel Casting?

TR FIEEA F A BIFHH geld & 100 eeatoliad # ¥ Fid § 9Er [Biaar 27

[Question ID = 619][Question Description = Q67_AWM_PA_NAIR25FEB]

I- Slag should be highly acidic in nature / T 3FeaT9% HFI1F YFid FI BT AT
[Option ID = 2473]

2. Slag should be reducing in nature / T T H FH BiaAT AT
[Option ID = 2474]

3. Rate of temperature increase should be slow / STIHTT JarT T &7 AT T e
[Option ID = 2475]

4. All the options are correct / T FeT TET &
[Option ID = 2476]

Correct Answer :-

* Rate of temperature increase should be slow / ST9HTF &9 FI &7 o g ATfgw

[Option ID = 2475]

68) A micrometer has negative error of 0.03 mm. What is the correct reading when the
micrometer measures 40.53 mm?

T ATSFHIACT # 0.03 AT Fr HureAT I &1 ST ASFHARCT FHATT 40.53 HHAT Er ar
mr BT T

[Question ID = 620][Question Description = Q68_AWM_PA_NAIR25FEB]
1. 40.50 mm / 40.50 T&=t



[Option ID = 2477]
2. 40.56 mm / 40.56 BT

[Option ID = 2478]

3. 40.46 mm / 40.46 f&&

[Option ID = 2479]
4 40.59 mm / 40.59 T&AT
[Option ID = 2480]

Correct Answer :-

* 40.56 mm /40.56 T&#T

[Option ID = 2478]

Which of the following is a Hopper Wagon?

foraToiaT & ¥ Fi9 &7 gl 391 82
[Question ID = 621][Question Description = Q69_AWM_PA_NAIR25FEB]
- BOB RN / @3 30w
[Option ID = 2481]
2. BRNA / fI3RTAT

[Option ID = 2482]

3. BOST/ #rafwEdr
[Option ID = 2483]

4 BCNHL / frdvaoae
[Option ID = 2484]

Correct Answer :-

* BOB RN / 3=t 3iR0=

[Option ID = 2481]

70} What is periodicity for sending LHB Coaches for Shop Schedule-1117

THUTET FE F AT WSA-ll F for w2 sEfoar g7

[Question ID = 622][Question Description = Q70_AWM_PA_NAIR25FEB]

. 2vyears /2T a¥

[Option ID = 2485]

2. 3years /&t I

[Option ID = 2486]
3. 5years /9o ay

[Option ID = 2487]
4. Gyears /T 9¥

[Option ID = 2488]

Correct Answer :-

* Byears /T a¥

[Option ID = 2488]



71) Who is chairperson of Kendriya Hindi Samiti?

F=g T oAt ¥ aewy wlw @7

[Question ID = 623][Question Description = Q71_AWM_PA_NAIR25FEB]
1. President / Irsgafe

[Option ID = 2489]
2. Prime Minister / T4 HIT

[Option ID = 2490]
3 Home Minister / 3[g Ha'

[Option ID = 2491]
4. None of the given options / f&ir =17 fa=redt & ¥ F1$ 7@
[Option ID = 2492]

Correct Answer :-

®  Prime Minister / THTe #H3"

[Option ID = 2490]

72)  Which award scheme is for writing Poetry and Gazal collection books in Hindi?

f&Sr & Fem 799 I ToE od@d $ [ov Sid B RERR I @e) 87

[Question ID = 624][Question Description = Q72_AWM_PA_NAIR25FEB]
I Phanishwar Nath Renu Award Scheme / FOTRatTY 0] JWHR TiAal

[Option ID = 2493]

2. Maithili Sharan Gupt Award Scheme / HeTIROT I TR Tr=ial

[Option ID = 2494]
3 Lal Bahadur Shastri Award Scheme / @TeT gt MET &R AT
[Option ID = 2495]
4. None of the given options / fe3r 17 fasredt & W F15 7@
[Option ID = 2496]

Correct Answer :-

* Maithili Sharan Gupt Award Scheme / 3fEIROT I[o7 [EFT A==

[Option ID = 2494]

73) As per Official Languages Rules, 1976, Union Territory of Andaman and Nicobar
Islands come under which region?

TS T3, 1976, F FgER, ’WsA ve fawEn @ wag R e # g7
[Question ID = 625][Question Description = Q73_AWM_PA_NAIR25FEB]
. OAl®
[Option ID = 2497]
. B/@

[Option ID = 2498]
./t

[Option ID = 2499]



4. None of the given options / f&3r aTT fawreat & & F1S 7T
[Option ID = 2500]
Correct Answer :-

° Al'F

[Option ID = 2497]

74)  According to Official Language Rules, 1976, the country has been classified in to how
many regions?

T [39H,1976 F IgEN & 1 g et & Feflea foear mar 82
[Question ID = 626][Question Description = Q74_AWM_PA_NAIR25FEB]
1. 4
[Option ID = 2501]
2. 5

[Option ID = 2502]
3. 15

[Option ID = 2503]

4. None of the given options / fe&r 71T fasreat & ¥ FIg AgT
[Option ID = 2504]

Correct Answer :-

* None of the given options / & 71T A=t & ¥ Fis T

[Option ID = 2504]

Department of Official Language of Government of India functions under which
Ministry?

AT BN F1 T 6T g #73eg F anfia 719 F@r 82

[Question ID = 627][Question Description = Q75_AWM_PA_NAIR25FEB]
1. Ministry of Education / f2rem #Farerar

[Option ID = 2505]
2. Ministry of Finance / fo= #araar

[Option ID = 2506]

3. Ministry of Home Affairs / [g #Ie1g

[Option ID = 2507]

4. None of the given options / fe&r oiv fawreat & & F1E 787
[Option ID = 2508]

Correct Answer :-

* Ministry of Home Affairs / I[§ #Te1d

[Option ID = 2507]



76)  Under rule 8 of Official Language Rules, 1976, an employee in central government
offices may record a Note on file in which language?

Tt foEs, 1976 F 0w 8 F G F5 TN F FAGT A UF AN A (HE
aor H ow gar g7

[Question ID = 628][Question Description = Q76_AWM_PA_NAIR25FEB]

1. Any language / %S 2 arsT

[Option ID = 2509]
2. Hindi only / Fae f&=ir
[Option ID = 2510]

3. English only / e F3r=T
[Option ID = 2511]

4. Hindi or English / fg=ar It 373r=r
[Option ID = 2512]

Correct Answer :-

* Hindi or English / T&=2r a1 373=iT

[Option ID = 2512]

77) Which of the following languages is not included in Eighth Schedule of the
constitution?

fefof@a et # § Fia @ w@feus Fr nedt e § oafde 78 87

[Question ID = 629][Question Description = Q77_AWM_PA_NAIR25FEB]

1. Santhali / E2Teir

[Option ID = 2513]

2. Nepali / Fareir

[Option ID = 2514]

3. Konkani / Fi=ofr

[Option ID = 2515]

4. Rajsthani / TSTEATAT
[Option ID = 2516]

Correct Answer :-

* Rajsthani / TS&ITAT

[Option ID = 2516]

78 section 3 of The Official Languages Act, 1963, came into force frem which date?

TaATeT HFrafEIdE | 1963 & TR 3 F THE FI?

[Question ID = 630][Question Description = Q78_AWM_PA_NAIR25FEB]
1. 26 January, 1963 / 26 ST=adl, 1963

[Option ID = 2517]
2. 26 January, 1965 / 26 ST=i9{l, 1965

[Option ID = 2518]



3 15 August, 1963 / 15 3TTEd, 1953
[Option ID = 2519]

4. 15 August, 1965 / 15 31T, 1965
[Option ID = 2520]

Correct Answer :-

* 26 January, 1965 / 26 ST, 1965

[Option ID = 2518]

Parliamentary Committee on Rajbhasha has member from which House of
Parliament?

T $ gEdT TR A e ¥ Py wewm g mewm g 2

[Question ID = 631][Question Description = Q79_AWM_PA_NAIR25FEB]
1. Lok Sabha only / 9o &ilsF @7 &

[Option ID = 2521]
2. Rajya Sabha Only / Fa TsT T &

[Option ID = 2522]
3. Both Lok Sabha and Rajya Sabha / % T3 72T T=8 3T &1 &

[Option ID = 2523]

4. None of the given options / & Tt et # ¥ Fs 740
[Option ID = 2524]
Correct Answer :-
* Both Lok Sabha and Rajya Sabha / W% T3 T4 =g T 241 &

[Option ID = 2523]

80) As per Official Language Rules, 1976, communication from a Central Government
office in reply to communication in Hindi shall be given in which language?

UsET fEEA, 1976, F ONGER, F=r A wg 99y F W F¥ §FR F
Faeg ¥ frw amwr # 5 soere

[Question ID = 632][Question Description = Q80_AWM_PA_NAIR25FEB]

. Hindi / f&=ar
[Option ID = 2525]
2. English / 35==T

[Option ID = 2526]

3. Hindi or English / fg=2r I 3=

[Option ID = 2527]
4. None of the given options / f&3r 717 R=reat & T 13 A&7
[Option ID = 2528]
Correct Answer :-
*  Hindi/ &=ar

[Option ID = 2525]



Topic:- AWM_PB_NAIR25FEB

1)

Classification of Stores is described in which of the following?

I 1 gaffeor Feaiaa § § o afvlag g7
[Question ID = 633][Question Description = Q01_AWM_PB_NAIR25FEB]
Indian Railways Code for the Stores Deptt Vol -l / &R @9 & o sda oa
Fig Wl

[Option ID = 2529]

Indian Railways Code for the Stores Deptt Vol -Il / TIT T899 & 60 9T og
Fiz @ ||

[Option ID = 2530]
3. Indian Railways Rolling Stock Code | IR Iod Afcier &l #I8

1.

[Option ID = 2531]

4. Al of these /| S=/1 @ Telv
[Option ID = 2532]

Correct Answer :-
Indian Railways Code for the Stores Deptt Vol-I / &R @3 & foiv sdig od
Hig W

[Option ID = 2529]

2) ftems kept in the custody of the Stores Department which are frequently and regularly
required and whose unit costjustifies incuming inventory carmying cost associated with
these items are classified as-

HER Tasmmer &7 {Uwd & W@ 715 S oo et AR HaidEd § 8§ g
ichl § 3 oo Sa1$ RTa 391 a3l § 31 geddl o wiel I anrd @ 3fEd
el §, 37 39 WhR aaffeha T amw g

[Question ID = 634][Question Description = Q02_AWM_PB_NAIR25FEB]
1. Emergency ltems | JTHIaTellel 940

[Option ID = 2533]
2. Imprest ltems / 3G IEC

[Option ID = 2534]
3. Stock ltems / TIH HBEH

[Option ID = 2535]

4. All of these / 357 & @i
[Option ID = 2536]

Correct Answer :-

* Stock ltems / T HSTH

[Option ID = 2535]

3) Form No -S.1302 is used for which of the following?
TIH Ha- TH. 1302 7 93191 &g fov giar g7

[Question ID = 635][Question Description = Q03__AWM_PB_NAIR25FEB]
1. Inspection of store items [/ TR HSTH & ALGTOT

[Option ID = 2537]



2. Rejection of stores items | ¥ HTSeH $1 3R

[Option ID = 2538]

3. Requisition of store items / TEIT 3TSTH T AT

[Option ID = 2539]
4. All ofthese / S=1#1 & @i
[Option ID = 2540]

Correct Answer :-

Requisition of store iterns / TSI 31ScH I 7T

[Option ID = 2539]

Which of the followings are the prescribed Mode of Direct Purchases in Indian Railway?

AT W # TEfeiad & @ FiF g veme @ie F o alsr §7

[Question ID = 636][Question Description = Q04_AWM_PB_NAIR25FEB]
1. Bulletin tender / gﬁﬁﬁﬁﬁm

[Option ID = 2541]
2. Single Tender / Ul [ATdgr

[Option ID = 2542]

3. Limited Tender /| Hif&a Afaer

[Option ID = 2543]

4. Allof these/ 38 @ Tafr
[Option ID = 2544]

Correct Answer :-

e Allofthese/ Z78 T @afr

[Option ID = 2544]

Eamest Money Deposit in Stores tender is calculated on the basis of-

s Wifder 7 3wiee A Buifoic &1 v = & 3T 9T &1 S §-

[Question ID = 637][Question Description = Q05_AWM_PB_NAIR25FEB]
1. Total vaiue of the Purchase Order / T@4¢ 31CYT & ool Hod

[Option ID = 2545]

2. Total estimated value of the tender / [@TagT &1 el Nﬂﬁﬂﬁﬁ Hed
[Option ID = 2546]

3. Total Value of the Lowest Offer / #=ic# T & Fel A

[Option ID = 2547]

4. All of the these / =18 & Tofr
[Option ID = 2548]

Correct Answer :-

* Total estimated value of the tender / THTEgT 7 Pl Nﬂﬂﬂﬁﬁ A

[Option ID = 2546]

6) PL No. in stores parlance stands far-

I #r amur F dive J9€ 7 Aded -
[Question ID = 638][Question Description = Q06_AWM_PB_NAIR25FEB]



1. Procurement License Number / @lIg #2809 &1

[Option ID = 2549]
2. Purchase List Number / @ilg gt g

[Option ID = 2550]
3. Price List Number / Jc B:\:ﬁ e

[Option ID = 2551]

None of these / 88 & HI 75T

[Option ID = 2552]

&

Correct Answer :-

* Price List Number/ He E:tﬁ @

[Option ID = 2551]

7) Inreference to stores. what last digit in P L Number denotes?
3R & Hedl & Or ver gwr & AfGH 3 aRifar 87

[Question ID = 639][Question Description = Q07_AWM_PB_NAIR25FEB]
1. Check Digit /| 9% RBEc

[Option ID = 2553]
2. Main Group Number / &I Tdg 9&dT

[Option ID = 2554]
3. Sub group Number / 39 g T&T

[Option ID = 2555]
4. None of these / S8 & @Is gl
[Option ID = 2556]

Correct Answer :-

* Check Digit /| 9% RBEc

[Option ID = 2553]

8) InABC analysis of inventory, which of the following is considered as basis for category
analysis like A, B & C?

a1siiE arEl & weidl favewor & Feafofaa & O <la faweiwer & AR & Srar
&7
[Question ID = 640][Question Description = Q08_AWM_PB_NAIR25FEB]

1. Number of tems [ GTHETET &Hr F&T

[Option ID = 2557]
2. Weight of items / STHE &1 gt

[Option ID = 2558]
3. Value of items / TN &1 AT

[Option ID = 2559]
4. None of these / 18 @ HI FgT

[Option ID = 2560]

Correct Answer :-



* Value of items / WTAMN FT FeT

[Option ID = 2559]

9) items of stores which have not been issued for 24 monthis and which, it is considered, are
not likely to be ulilised on any railway within next twe years are called-

SIS 1 d aFqU off 24 AT & Sy Agr A ag § SR oo A A Ag A ol ¢
& 3l o anf & fiar TRl off I W 3a% 3w e o & Faraen a7 6,
el -

[Question ID = 641][Question Description = Q09_AWM_PB_NAIR25FEB]
1. |nactive Stores | Biera =g

[Option ID = 2561]
2.  Moveable Stores / T TRT

[Option ID = 2562]

3. Dead Stores /S &

[Option ID = 2563]
4. All of these / S8 T @iy

[Option ID = 2564]

Correct Answer :-

® Dead Stores /35 T

[Option ID = 2563]

RSP proposals under Plan Head 21 can be sanctioned by which of the following?

FRTEET gEaEt # @ § F FF e w1 awar 82

[Question ID = 642][Question Description = Q10_AWM_PB_NAIR25FEB]
1. DRM / ST3TTes

[Option ID = 2565]
2. GM | HAgHRR

[Option ID = 2566]
3. Railway Board / Isd &S

[Option ID = 2567]

4. All of these / S=id7 & @air

[Option ID = 2568]
Correct Answer :-
* Railway Board / Ied 912

[Option ID = 2567]

) Which of the following is correct?

fEAfeifEa & & =l e 87

[Question ID = 643][Question Description = Q11_AWM_PB_NAIR25FEB]
New Works and Works in progress of works costing more than 2.5 crore each appear in
. PINK BOOK / 2.5 #U3 90 & 3fei& oeid & AU & aor gie] & O g6 &

afid gid §



[Option ID = 2569]
New Acquisition and Programmed Delivery of M&P items costing less than Rs. 2.5 crore

2. each appear in PINK BOOK / 2.5 #ls $90 & &H @lld & HUla 3l gaa & a2t
Tl e FrEifa T | Ao aer @ fGF 9 § afta g @

[Option ID = 2570]
New Acquisition and Programmed Delivery of RSP item of all costs appear in PINK Book /

3. ot @lg o iR o 9 e arel @i onrd & ARead Ased TE 9 A
aftla g &

[Option ID = 2571]

4. None of these / S8 & @5 gl

[Option ID = 2572]

Correct Answer :-
New Works-and Waorks in progress of works costing more than 2.5 crare each appear in

* PINKBOOK / 2.5 F{3 ®9C & 3ifeh oTd & AT F o7 =ie], H1d 0% g 7
aftid g §

[Option ID = 2569]

Detailed Demands for Grant for Ministry of Railways were presented to Parliament for
Financial Year 2023-24 under which Demand Number

IS A W IR A AEgd AR W T ay 202324 & v gug # R A
T & FeEid A fhar aar ar?

[Question ID = 644][Question Description = Q12_AWM_PB_NAIR25FEB]

1. 82

[Option ID = 2573]
2. 8§

[Option ID = 2574]
318

[Option ID = 2575]
480

[Option ID = 2576]
Correct Answer :-
* 85

[Option ID = 2574]

RSP items are proposed for sanction under which Plan Head?

5T e 8= & 3 INCEdr 3EcH S SEdidd AT Siar g7

[Question ID = 645][Question Description = Q13_AWM_PB_NAIR25FEB]
1. 49
[Option ID = 2577]
2. 1
[Option ID = 2578]
3. 33
[Option ID = 2579]
4. 42



[Option ID = 2580]
Correct Answer :-
° 21

[Option ID = 2578]

14)  Under Plan Head 41, which of the following proposals are dealt?

e §5 41 & 3999 B § § e geaar W ASar R s g7

[Question ID = 646][Question Description = Q14_AWM_PB_NAIR25FEB]
1 Works related ta Coaching Sick line / FifdT 8% osa & dafa &9

[Option ID = 2581]
2. Proposals of Rolling stock ltems [/ I &l 3=ScH & 94

[Option ID = 2582]
3. Proposals related to Machinery & Plants /| #0158 3T o9 & weag

[Option ID = 2583]
4. All of these / 378 & @l

[Option ID = 2584]

Correct Answer :-

* Proposals related to Machinery & Plants / @R 3l oo & 9egg

[Option ID = 2583]

15) Standards of Finanecial Propriety -are described in which of the following?

i aiifacg & #=t @ aufe foreT & @ a7 82

[Question ID = 647][Question Description = Q15_AWM_PB_NAIR25FEB]
1. Indian Railway Finance Code Vol - 1/ s 3o fada a@fgar s - 1

[Option ID = 2585]

2. indian Railway Finance Code Vol — 2 [ 5 Yo fasiir dfgar gmer - 2

[Option ID = 2586]
3. Indian Railway Establishment Code /| |RaT LT TATIAT argar

[Option ID = 2587]

4. None of the these / S8 & FiZ 781
[Option ID = 2588]

Correct Answer :-

* Indian Railway Finance Code Vol - 1/ sIRcha o fada a@fgar smr - 1

[Option ID = 2585]

16) 'Works under Plan Head 42 can be sanctioned by which of the following authorities?

o 8E 42 F w4 Tewad # ¥ e ¥ @ =g g 27
[Question ID = 664][Question Description = Q16_AWM_PB_NAIR25FEB]
. DRM [ S3RTH
[Option ID = 2653]
2. GM | HAgIIEF

[Option ID = 2654]
3. Railway Board / {ed a3

[Option ID = 2655]



4. All of these / a8 & |3hr
[Option ID = 2656]

Correct Answer :-

* Al ofthese / =8 & @it

[Option ID = 2656]

17) Which of the following Ministry of Government of India issues General Financial
Rules?

T AR & i G A0 GAFT O e ol e 82

[Question ID = 649][Question Description = Q17_AWM_PB_NAIR25FEB]
1. Ministry of Home Affairs / 7[g HAe

[Option ID = 2593]
2. Ministry of Finance / a9 JAreg

[Option ID = 2594]
3. Ministry of Railways /| ¥ #Ame/d

[Option ID = 2595]
4 None of these | =98 & FE 8T

[Option ID = 2596]

Correct Answer :-

* Ministry of Finance / @9 &g

[Option ID = 2594]

Expenditure towards Repairs and Maintenance of Plant and Equipment is booked under
which Sub Major Head?

Cefie TAT STFauHe & AW 0T 3ENE0T 9 AT I @ R W Jo) g5 A O
o SIrar §72

[Question ID = 650][Question Description = Q18_AWM_PB_NAIR25FEB]

1. 5

[Option ID = 2597]
2. 7

[Option ID = 2598]
3..g

[Option ID = 2599]
4. G

[Option ID = 2600]

Correct Answer :-

* 5

[Option ID = 2597]



19) Which Primary Unit is used for booking of contractual payment under revenue

expenditure?

ag =07 & 3iada AfceHs spTaie @ affr & fov @l @ weAd gfele @& 92T
T Srar g7

[Question ID = 651][Question Description = Q19_AWM_PB_NAIR25FEB]
31

[Option ID = 2601]
2. 99

[Option ID = 2602]
3. 32

[Option ID = 2603]
4. Noneof these / 398 o &5 =gl

[Option ID = 2604]

Correct Answer :-
¢ 32
[Option ID = 2603]

- What is minimum Rate of Return under DCF technigque required for a works proposal to
become financially acceptable?

Rl F1 9oaE F BET ® O S gl & e ST g 8 Heer 7 e

I sl F8 § $F Thaal giar aiige?

[Question ID = 652][Question Description = Q20_AWM_PB_NAIR25FEB]
1. 149

[Option ID = 2605]
2. 15%

[Option ID = 2606]
3 10%

[Option ID = 2607]
4 07%

[Option ID = 2608]
Correct Answer :-
® 10%

[Option ID = 2607]

21) \What action can the Appellate authority take on an Appeal under DEAR?

FRUAR F FET denT FET i 9T T FIEsS U Gl §7
[Question ID = 653][Question Description = Q21_AWM_PB_NAIR25FEB]
1. Confirm the penalty / g3 @I 97S¢ e

[Option ID = 2609]

2. Reduce the penalty | §3 & &d &l
[Option ID = 2610]

3. Propose to enhance the penalty / €3 &= & fav ?R?T% el
[Option ID = 2611]

4. All of these / 38 & @it



[Option ID = 2612]

Correct Answer :-

e All of these / 38 & sl

[Option ID = 2612]

Which Fermis used to revoke the suspension?

erae g & v &fF ar wF &1 gher aar S 87

[Question ID = 654][Question Description = Q22_AWM_PB_NAIR25FEB]
1. SF-5 /| tHUH-5
[Option ID = 2613]
2. SF-1 / THUH-]
[Option ID = 2614]
3 sF-11 | TETE-11
[Option ID = 2615]
4. None of these / 58 & #I15 a5

[Option ID = 2616]

Correct Answer :-

* None of these / S8 & #Is AgT

[Option ID = 2616]

Up to how many times a railway servant can avail leave encashment in his entire
career other than at the retirement?

Fls Ted Heash Haregid H oI5 FT ITEHae Fhoell aR WEET F AAGHToT H
Hehell 27

[Question ID = 655][Question Description = Q23_AWM_PB_NAIR25FEB]
1. 4
[Option ID = 2617]
2. 5
[Option ID = 2618]
3.5
[Option ID = 2619]
4. 7T

[Option ID = 2620]

Correct Answer :-
* 6
[Option ID = 2619]

24) Which of the following portals deal with withdrawal from provident fund?

Wifdse v A SRl oq e a1 fed F1E Far g7
[Question ID = 656][Question Description = Q24_AWM_PB_NAIR25FEB]

1. RESS /| IRstaTd
[Option ID = 2621]

2. ARPAN / T3ROS
[Option ID = 2622]

3. HRMS [ TR IRTHTH



[Option ID = 2623]
4. None of these | S8 & FiS g7
[Option ID = 2624]

Correct Answer :-

® HRMS / TH3RTATH
[Option ID = 2623]

According to which rule of Railway Service (Conduct) Rules, 1866, Railway Servants
shall at all times maintain absclute integrity?

Yo ar AT feae, 1966 & e foae & SR Yo Saa 51 99T g

[Question ID = 657][Question Description = Q25_AWM_PB_NAIR25FEB]
3010

[Option ID = 2625]
2o 31 (i)

[Option ID = 2626]
3 3(2) ()

[Option ID = 2627]
4. None of these / 35187 & &His a1
[Option ID = 2628]

Correct Answer :-
* 3(1Mm

[Option ID = 2625]

According to IREC Vol -l Review of service of Group A and B employees who entered
service before 35 years of age can be done-

q9 T aAr @ & 3] FA S 35 a9 Hr g § ugel I Har A AT Uk § IEA
Tar 1 TR ASHEETT 997 - || F HaAg Fa F S 82

[Question ID = 658][Question Description = Q26_AWM_PB_NAIR25FEB]
' After aftaining age of 55 years / 50 ¥ &I 31g g= & a5

[Option ID = 2629]
2. After attaining age of 45 years / 45 a9 #1 377 g & g

[Option ID = 2630]
3. After attaining age of 58 years / 58 a¥ &I 3 @l & 41g

[Option ID = 2631]

4. None of these [ /8 @ Fis #g!

[Option ID = 2632]

27)  \Which of the following is a penalty under rule 6 of D&AR Rules 19667

SUTHT FeT 1966 ¥ Tw 6 ¥ ooy Teafoi@a & 7 o1 &3 $r 4o & s 2

[Question ID = 659][Question Description = Q27_AWM_PB_NAIR25FEB]



N

- Censure | 9itfd=gr
[Option ID = 2633]

2. suspension | e

[Option ID = 2634]
© Waming / ddrdeit
[Option ID = 2635]

4 All of these /| S8 & Tfr

[Option ID = 2636]

w

Correct Answer :-

* Censure | 9itfeear

[Option ID = 2633]

28) What is maximum Duty Hours of a Ministerial Staff in one week?

e fAFRRad #ad & v v g & Afdsan &1 89 Bae @87
[Question ID = 660][Question Description = Q28_AWM_PB_NAIR25FEB]
1. 48
[Option ID = 2637]
2 40

[Option ID = 2638]
3. 42

[Option ID = 2639]
4 None of these / 3 T Fis 7T

[Option ID = 2640]
Correct Answer :-
* 42

[Option ID = 2639]

Which of the fallowing forum is for discussion between Railway Management and
Employees matters of common concern?

o= & Fe a1 o1 U qur FHAE F A O e aEea Hegl o
Haferg Aeel 9T 99T & 1 3T 87

[Question ID = 661][Question Description = Q29_AWM_PB_NAIR25FEB]
1. Permanent Negotiating Machinery / T2t ardl &

[Option ID = 2641]
2. Joint Consultative Machinery / T&ed SRIHT F

[Option ID = 2642]
Participation of Railway Employees In Management /| Yauel # {od $Heanidn &r

AT

[Option ID = 2643]

4. All of these /| =38 & Tafr

[Option ID = 2644]

3.

Correct Answer :-

* Allof these / =37 ¥ @Y

[Option ID = 2644]



30) FPaternity leave is admissible to a male Railway servant for how many surviving
children?

T GEN Il A& #l el silldd dedl & [ov [Oded 3@ e g7

[Question ID = 662][Question Description = Q30_AWM_PB_NAIR25FEB]
1. One | U&h

[Option ID = 2645]
2. Two f &Y
[Option ID = 2646]
3. Three | &
[Option ID = 2647]
4. None of these / 35787 § HS 8T

[Option ID = 2648]

Correct Answer :-
° Two /T
[Option ID = 2646]





